
 

 
 
 
 

 
1   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-1158-RevD ECO #: W16-0116 DATE: 8/17/17 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

INSTALLATION INSTRUCTIONS 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 ULTIMATE BULL BAR ASSEMBLY 18MM WRENCH  

2,3 2 MOUNT BRACKET, DRIVER (2) AND PASSENGER (3)  18MM SOCKET  

4 4 M12 HEX HEAD CAP SCREW (YELLOW ZINC) 9/16 WRENCH  

5 8 M12 FLAT WASHER (YELLOW ZINC) RATCHET 

6 4 M12 SPLIT LOCK WASHER (YELLOW ZINC) TORQUE WRENCH 

7 4 M12 HEX NUT (YELLOW ZINC) ALLEN WRENCH 

8 4 3/8-16 HEX SOCKET BUTTON HEAD SCREW (BLACK ZINC OR RAW) S/S  

9 8 3/8 SAE FLAT WASHER (BLACK ZINC OR RAW) S/S 13MM WRENCH  

10 4 3/8 SPLIT LOCK WASHER (BLACK ZINC OR RAW) S/S  

11 4 3/8-16 HEX NUT (BLACK ZINC OR RAW) S/S  

12 1 LED WIRING HARNESS (09-12000-1)  

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING 

ULTIMATE BULL BAR 

APPLICATION:  

2016-2018 Chevrolet Silverado 1500  

2016-2018 GMC Sierra 1500 

PART NUMBER:  

32-3870, 32-3875, 32-3870L, 32-3875L, 32-3920, 32-3925. 

PROCEDURE 

1. Remove contents from box, verify if all parts listed are present and free from damage.  

Carefully read and understand all instructions before attempting installation. 

Failure to identify damage before installation could lead to a rejection of any claim. 

2. For models with factory tow hooks: The driver side tow hook bolt must either be cut or the bumper must be removed to 

complete the Bull Bar installation.  

3. For models with factory tow hooks: If removing bumper see Figures 1 and 2.   

4. For models with factory tow hooks:  Remove the tow hook bolts and the foam tow hook covers. Tow hooks cannot be 

reinstalled with application. See Figures 3 and 4.   

5. For models without factory tow hooks: Trim the tow hook pockets in the front valance. 

32-3870 / 32-3875 / 32-3920 / 32-3925  32-3870L / 32-3875L ITEM 1 DRIVER SIDE SHOWN ITEM 2 

BRACKETS FOR  

32-3920 & 32-3925 

BRACKETS FOR  

32-3870 & 32-3875 

32-3870L & 32-3875L 



 

 
 
 
 

 
2   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-1158-RevD ECO #: W16-0116 DATE: 8/17/17 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

Remove this M10 bolt from each side 

of the bumper (Driver side shown). 

Figure 1 Figure 2 Remove these M12 bolts from each side 

of the bumper (Driver side shown). 

Figure 4 

This bracket may need to be loosened 

in order to remove the tow hook bolts. 

Figure 3 

Remove the factory tow hook 

bolts and tow hook covers.  

6. Locate (1) mount bracket (Item 2/3). Loosely install brackets using the provided M12 hardware. Repeat for other side. See 

Figure 5.           See page 3 for bracket locations. 

Note: Refer to Item 2 on page 1 for the different mount bracket for Silverado and Sierra.   

7. Reinstall bumper (if removed). Trim tow hook pockets as necessary. 

8. With assistance loosely install the Ultimate Bull Bar Assembly (Item 1) onto the previously installed brackets. Loosely 

bolt bull bar to brackets using the provided 3/8ò hardware. See Figure 6.  

9. Align and adjust the bull bar and brackets as necessary then tighten and torque all fasteners as follows: M12 to 50-55 ft-

lbs, 3/8ò to 25-30 ft-lbs.  

10. For part numbers  32-3870L & 32-3875L: Refer to Page 4 for wiring instructions. Loosen M8 hardware to adjust 

the LED light in bull bar or to remove it in order to replace it. See Figure 7 for location of M8 hardware.  

Figure 5 

Driver Side Shown  

Figure 6 

Driver Side Shown  


